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Q.1: 1 8yilJl dolse 4US Mark(s): 5/5

Write an equation for the graph ol bl Jaaill Alalaa i)

below.

o MAT.3.04.01.005

Learning Outcomes Covered

(x+4)*+(y—6)*=13




(x+1)2+(y—4)?=2.25




Q.2: 1 Sbguaall plaziwl dbs SViles plbi J> Mark(s): 5/5

Which of the augmented matrices a3l Jglal) Jias dacugall Cildgiaal) (o (o)
represents the solutions of the Ty aleall
system of equations? —3x+y=4
2x+y=-6

Learning Outcomes Covered

o MAT.2.03.01.013

' L3 1
1 05 '3
' 2 1

0 1E€ 5






Q.3: 1 2l gball doles 4US Mark(s): 0/5

Write an equation for the hyperbola bl Sl 8 chaal) gl adadll dlalaa i)
shown in the graph. .oLiy)

Learning Outcomes Covered
| || |

o MAT.3.04.01.009

36 ' 28






Q.4: 1 ddgonnll yugSse Mark(s): 0/5

10 7
7 5

Learning Outcomes Covered

If A = [17“ Z] find AL, if it exists. .cuag o) AL aagl A = [ ] 3l 1)

o MAT.2.03.01.016

-7 10




Bagaga &

does not exist



Q.5: 1 &isVlg duwll SUS )l Juiadg sl Mark(s): 5/5

For a field goal attempt, a ball is depuadls 55 JS) a3 ccdn jhaY dlglaa A
kicked with the velocity shown in the o] Jaudail il daiin gall
diagram below. Find the magnitude Ayl )l CSpall j)ada aag)

of the vertical component of the

velocity.

Learning Outcomes Covered

o MAT.3.13.01.002






Q.6: 1 Olgziall (oiil wypall Mark(s): 5/5

Find the cross product of d gbi:di cpall gl Aagl
u=(1, — 6) and v=(5, 8). v=(§, 8)su=(1, — 6)

Learning Outcomes Covered

o MAT.3.13.01.005

|
S
W







Q.7: 1 3l¥l &6\ Olgxiall e Sldas]l Mark(s): 5/5

lfy =(-5,—-4,3)andz=(-2,2,4). .z=(-2,2,4)5y =(=5,—4,3) o}
Findy — z. Y — Z datd 1a)

Learning Outcomes Covered

o MAT.3.13.01.003

J
w
I
=
I
-
T
hesss s s




(-3,—-2,1)




Q.8: 1 e85l ghill dslss Mark(s): 5/5

Write an equation for a parabola dall) e 4 i ;.&,éis,. adsd dlalaa S|

with vertex at (1,2) and directrix X = % 4l (1,2)
3

X = ;.

o MAT.3.04.01.003

Learning Outcomes Covered







Q.9: 1 dgiuanll yugSwo Mark(s): 5/5

Which of the following matrices is 331 Il il gdianl) e (o

singular?

o MAT.2.03.01.016

Learning Outcomes Covered







Q.10: 1 duwlill dapally dbgysall g gl GYslae d)liS

Which equation is graphed below?

Mark(s): 0/5

ealial Wil Aliaad) Adalaal) Lo

y

~2

Learning Outcomes Covered

o MAT.3.04.01.011

y =4x* —16x + 16




x=4y* - 16y + 16




Q11: 1 Wily yosWl ghill Juies Mark(s): 5/5

What are the vertices of the ellipse Aslaalls eBUl) adadl) yugh La
with equation ?(x —3)* n (y—-2)* _ 1
(x—3)2 (y—2)2 36 144
=17
36 * 144 L

o MAT.3.04.01.009

Learning Outcomes Covered




(3,-10),(3,14)

(2,-11),(4,13)




Q.12: josWl ghall dslse 4US Mark(s): 5/5

Write an equation for an ellipse with il xie ol s el ok bl S

vertices at (—4, 0) and (4, 0) and foci o

at (2,0) and (=2,0). (2,0) i o334 (4,0) 5 (—4,0)
* (_21 0)\’

Learning Outcomes Covered

o MAT.3.04.01.007




12 16




Q.13: 1 §)ilal) jSyall Sl Mark(s): 5/5

Find the center of the equation of  .x% + y2 4+ 4x = 9 5,4l dlslaad 3Syall 22
the circle x* + y? + 4x = 9.

Learning Outcomes Covered

o MAT.3.04.01.005

0
L
=)
L
e ol




(4,0)

(0,4)




Q.14: 1 dbuwll wall Sllec Mark(s): 5/5

Determine the row operation S dganll lgy alidl) o3 Al caall ddas ara
performed to obtain the matrix. .48 ga.mall

o 1 > —6
=21 —> |06 1 —3

1 0 0 -1

|
N

Learning Outcomes Covered
| || ||
o MAT.2.03.01.013

o

I""""%""""I
b
_I_
e
w



R; +R3

R{ +R;




Q.15: 1 duwain Jail Olglas] yaxi) Sl giuaall plaziwl Mark(s): 5/5

Use matrices to perform reflect WXZ &4 GulSed) g)aY Slighaal) ardiu)
triangle WXZ , where W(-2,-3), Z(1,-2)s X(—1,2)s W(—2,—3)cua
X(—1,2) and Z(1,—2) over the X pgaall B
x—axis.

o MAT.2.03.01.009

Learning Outcomes Covered







Q.16: 1 Lily 211 ghadll Jiios Mark(s): 5/5

Which equation is graphed below? olial Wil dliaall dlslaall La

Learning Outcomes Covered

o MAT.3.04.01.010




81 64




Q17: 1 fugxio Gu gl ol Mark(s): 5/5

Find the angle @ between vectors u={(0,—-5) (nexiadl 1 6 333511 )
u=(0,—5) and v = (1, —4) to the On g Y cuEil) aa v = (1, —4)
nearest tenth of a degree. Aol e Bie

o MAT.3.13.01.005

Learning Outcomes Covered

i S R i 11vrui'ru1'rj:uwf1'rrﬁr& """"""""""""""""""""""""""" 1
0 =14.0° E

n



0 =44.1

6 =760



Q18: 1 Sbgiasll upd Mark(s): 5/5

fA=[4 5]andB= [ﬂ find AB a4 B = [i’]JA= [4 5] el
AB if possible. LOSal o

o MAT.2.03.01.005

Learning Outcomes Covered




5]

d.
Qpa

undefined



Q.19: 1 duwaigll Oy gl (o S guaall plaziwl Mark(s): 5/5

Use matrices to determine the auall Gildias) Luail Gl ghaal) ardiud
coordinates of the square RQPO Q(4,4)5R(0,4) hlal 4wy, RQPO

whose vertices are points R(0,4), .180° dygly 4d92 a3.0(0,0) 5 P(4,0) 5
0(41 4)’ P(q'; 0) and O(GJ 0)'
Rotated by 180°.

Learning Outcomes Covered

o MAT.2.03.01.009

0 —4]-4 o

44 0 o0
e
i



0 o

-4 4
4

|

-2 0

0 -2
-2 -2

0 O

|



Q.20: 1 dubbs jeg dibs S)olso pliai J> Mark(s): 5/5

Find a solution to the system of SN aleal) f.ll'ﬁl Ma aagl
) y=12x—-30 y=12x - 30

equations. 9
3x2—y =30 3x2—y=30

o MAT.3.04.01.014

Learning Outcomes Covered

=P A T R = Ry = SRR == = =SS ST m s smsssssssssssssssssssseses

(0,—30),(4,18)

L“nnh---'llﬁﬂ-ﬂw -"l-l-,r:-!-h‘-.r.wi'--\ar- ----------------------------------------------

(=30,0),(18,4)




(10,0),(2,—6)

(4,—6),(5,45)



Q.21: 1 &)yl 8)gaall dbuwg dilse 4US Mark(s): 5/5

Write x =2t —5 andy = t? + 4in hoally =t>+45x =2t—5
rectangular form. cdalaial) FlaaY) (geiuall B ALK

Learning Outcomes Covered

o MAT.3.04.01.017

Q

_(x+5)2+4
Y=\"2

L......_.l:.-.;;lManahi,cnm/m ..............................................




y=(x+5)?*+4

y=x*+4



Q.22: 1 33>g)l axio Mark(s): 5/5

Find a unit vector y with the same slad) (i 43 il U Saagll data dag
direction as v = (3, —4). v =(3,—4)

Learning Outcomes Covered

o MAT.3.13.01.004




3

—4
=

5




Q.23: 1 gxiall wpadl @il sl Mark(s): 5/5

Find the cross product v x u of 1V XU gaial) qpal) @il agl
u=4i+ 3j —k and v=7i+ 2j— 2kyu=4i+3j—k
v=7i+ 2j — 2k.

o MAT.3.13.01.010

Learning Outcomes Covered

(4,-1,13)

il

o



(131 _11 4)

(8,15, 13)




Q.24: 1 Olg=iel] &Syell 3)g00l Mark(s): 5/5

Find the component form of AB dhii (5< Guas AB 3 LS 5 pall aag)
with initial point 4(0,8) and B(—9,—3) 4ulg dhiig A(0,8) anly

terminal point B(—9, —3).

Learning Outcomes Covered

o MAT.3.13.01.001



(9,5)

(—11,-9)




Q.25: 1 5Ll (WM Rudg b dogiiune dslns uaiio (wlas] sl Mark(s): 0/5

If N(—2,1,-5) is the midpoint of MP 3P Liaiia a N(=2,1,—5) csls 13

where M(—1,—4,—9), find P. P2y M(—1,-4,-9) &

Learning Outcomes Covered

o MAT.3.13.01.001

., I:I UR SULJT TAID pm.?:.i BN

(-3,6,—1)

T ——




(-1,5,4)

(3,—6,1)




